Math 6









Divisibility Patterns

How to know when a number will go into another number evenly:
Rule for:
2 

If the ones digit is 0, 2, 4, 6, or 8, then the number is divisible by 2.


Example:  218;2  YES


218 is divisible by 2 because the ones digit is 8 (even)



Example:  315;2  NO


315 is not divisible by 2 because the ones digit is 5 (odd)

3 


If 3 can go into the sum of the digits, then the number is divisible by 3 

Example:  218;3


        315;3


                  2+1+8=11 (NO)                3+1+5=9 (YES)

4 

If the number formed by the last two digits is divisible by 4, then the number is divisible by 4.
Example: 216 ;4 YES

        3 15 ;4   NO

5 (Five)


If the ones digit is 0 or 5, then the number is divisible by 5.


Example:  216   NO
         315  YES

6 (Six)


If the number is divisible by both 2 and 3, then the number is divisible by 6.


Example:  216

          Divisible by 2:  216   YES


Divisible by 3:  2+1+6=9  YES


Divisible by 6:  YES because it is divisible by 2 and 3


Example:  315


Divisible by 2:  315   NO (The digit is the ones place is not 0,2,4,6,8)


Divisible by 3:  3+1+5=9  YES


Divisible by 6:  NO because it is not divisible by 2 and 3.  

9 (Nine)

If 9 can go into the sum of its digits, then the number is divisible by 9.


Example:  218



       2+1+8=11  (NO) 


Example:  315



       3+1+5=9  (YES)

10 (Ten)

If the ones digit is 0, then the number is divisible by 10.


Example:  218    (NO)


Example:  300    (YES)
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